10

10

50

10

12

20

20

18

30

R-300

10

25x0250

¢1l6

A s31
t =04

40

M-03
t =00

92

M-03
t =03

312

A s31
t =03

21-8- 25B0B
(150506

10

38

RCo 4
t =00

38

As

15cm

16

As

t =

30

20




As t = i 14
Co i 20
As i 14
Co i 20
1
( 18- 8- 25808 410 16
18- 8- 25808 410 53
28
1
W6 80102 8 0 = 100 0 )
Di mpl ef T2-
1
H=101 0 )
1
W6 6x0102 8 0 = 100 0 )
Di mpl ef T2-
1
H=100 0 1
H=00 1
1
1
1
Gp- G- 2 20
Gp- Gp- 2 72
H=101 0 3
1
199 8 0080 -
©100, 10=150 12
©100, 10=2p0 3
©127,10-250 37




1:

0.4, 10w

50

RCo 4

11

18-88B251

17

18-88B840H

17

0. 3

23

18-88B251

20

18-88B40H

20

12-1L

20

60

W= 1nb

W= 3nd

40

40

3

50

30




